{Q} PNEUTREND

A Speed Wheel Spindle Power Weight  Consumption Vibration Air Inlet Noise dB(A)  pressure
Technical RPM = mmy/inch size kw/hp (YO kg/lb  LPM/ CFM m/s*  inch LPA LwA Bar/ PSI
Details g b B w & @ & W @
75039L

M8 x1.25
12,000 125 (5) 15(20) 278(109) 2.1(4.6) 96(34) 822 3/8 9452/10552 6.2(90)
75039L- 1 MI4x2.0

Index No. Description Quantity Index No. Description Quantity Index No. Description Quantity

2 0O-Ring (G35) 1 16 Wheel Flange 1 30 Aluminum Handle Kit

Screw (M5*P0.8*L8) 18 Ornamental Gasket-186C Red 1 32 Trigger Pin (D4*126)

Handle-black 20 Front End Plate 34 Valve Seat

1

8  Ball Bearing (6262Z) 1 Rotor 1 36 Spring (L28.2*D18*d4.5*w1)

10 Work Spindle 24 Cylinder Ass'y 1

1
-—--—--

-
12 Washer (D41.8*d34*T0.6) 1 26 Ball Bearing (6072Z) 40 Hex Key(2.5mm)

Air Inlet Bushing-3/8"

14 Connect Nut 1 28 Reverse Bushing

* Due to our continuous improvement, all specifications are subject to change without prior notice. 2407



